Roll No:- Bl, 59- ‘ S Zl 07—?3
Sem-V Diploma Exam 2023 (Qdd) .
(Civil Engineering / Civil (Rural) Engineering) (Theory) [Max. Marks: 70]
[Time: 3 Hoary) Water Resources Engineering. (2015503)

i ot wx A @ |)
All questions arc compulsory. ( .
qu ntioned on the right side of each question. (3t T wx % <t i atfra f )

- Marks are me:

Group (A) (I¢ -v)
Q.1  Choose the most suitable answer from the following options.
(watfirs Iudw frmeaat g¥aw i |) :-
i The carth's water circulatory system is known as
(= = = TRE=m 9% Feard ¥)
(a) Watercycle (b) Hydrological Cycle  (c) Precipitation cycle (d) All of the above
(Fa =) (Frreiifaa =T%) (awi %) (3w aft)

(1*20=20)

il The precipitation Caused by lifting of warm moisture laden air masses due to topographic barriers is
called_ :
(Frerpias st % e s Toft e argaterl % 3ad A A areh ant weendt ¥)

(2) Orographic precipitation (sif axf) (c) Cyclonic precipitation (Sardt awf)

() Convective precipitation (gaea awf) - (d) None of the above (3w 3 & % 7d)

iii. The Commonly used rain gauge is
(3R s forn < e i )
(2) Weighing bucket type (7= aret xom #1)

(c) Float FAR THT
(b) Tipping bucket type (RRm aredt wam =) R .

(d) None of the above e 33 NETE)

iv. The estimation of flood can be made
(3% =1 3w @ ww_ )

(2) By physical indication of past floods (7 =12t ¥ s W =)
(®) By flood discharge formulae (a1g frdex @it =)

() By unit hydrograph (afz g =)
“(d) All of the above (330w ad)

V.
The amount of water required to fi

i i5 known ox I up the pores space in Soj

(%1 & it 1 o o —
(2) Samratjon Capacit;g o mﬂ(g Field C“*"?"* v ¥ fig SIS I Y qmr wy
(¥t &) @6 e‘:::)c“y (€) Available mojstyre a izzr)%/)m £
: (3vereq ) of the aboye

Vi.  Crop ratio i the ratio of ar, .( h
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vii.  The depth of root zone is 90 cm for (7 & 0 meat 90 A5t @)

(a) Wheat (¢ %) (b) Sugar canc (%=1 #)  (c) Rice (ama #7) (d) Cotton (#xm =)
viii..  For potato Sugarcane and groundnut, the ___ method of irrigation is adapted.
(e, = S et & R _ Fetard ) Pfir arard et #)
(a) Free flooding (b) Border flooding (c) Check flooding (d) Furrow flooding
(vz fa=md) (=t firard) (A fitr) (% Ri=rd)

ix.  The bottom portion of a concrete or a masonry gravity dam is usually Stepped, in order to
(Wmﬁ:ﬁaﬁgﬁm@wﬂ%ﬂaﬁ&ﬁmmwm“mmt)
(2) Increasc the overturning resistance of the dam (a1 % ez e #1723 % o)
(b) Increase the Sheer Strength at the basc of the dam (3t % IR W F TH B R]A F Rre)
(c) Decrease the Shear stress at the basc of the dam (3ta ¥ Fmun W Fe 7w 9 ¥ F )
{d) None of the above (sww & & 3 3¢

X. When the reservoir is full, the slope Which is most likely to slide is
(wmmam%,a}&wzm%maﬁmmmm%ﬂs%)
(2) The d’s slope (b) The V/s slope {c) Both (a) & (b) (d) None of them
(Fech w1 7om) (9 & e i zam) (=) i (=) 21) (3Ft &+ 7)

xi. Which one of the following Spillways is least suited to earthen dam?
(Ffafee & 3 =9 o Read frdt $ 2 3 fog wad o v 2)

(2) Shaft spillway (b) Chute spillway (c) Side Channel Spillway  (d) Ogee spillway
(7w fme) (9= faed) (a13E 37 figend) (<t Rgerd)
xii. A Shaft Spillway is located (T W Afrere arf R 2.)

(2) Inside the body of a gravity dam. (v Teeamarior @iy ¥ aiw)
(b) Inside the downstream reservoir (e s % R)
(c) Inside the upstream reservoir (FEIT SR ¥ 37w)

(d) On side flanks of the main dam (qea sty % oré fiFrt w)

xiii.  In bandhara irrigation the ‘that’ is divided into several zones which is known as
(aum ferd § 'Wﬁwﬁz}#&ﬁﬁh\nﬁam%ﬁammi,)
(2) Shaed (1) (b) Phad () (c) Seal (fer) (d) Bhad ( wz)
xiv.  Without causing any failure of the well the rate of pumping of water from the well ; S
(2 ft o e fer, 8 0 1 2048 e ) wellis knawn o

(2) Efficiency of awell  (b) Yield of a well (¢) Specific capacity of a well

" (376 ) (594 tran ) (5.1 e e (d) None of the above

(39 & 3 %78 71)

XV.  open wells are wells having diameters Varyi
rying from T3
(a)O.Smlolm(O.Sxﬁaix1_0,3({6,6,8) (@ﬁaﬁﬁﬁf}maﬂg)

: (©)2mto7m (2 3
(b2 1.0mto 1.5 m (1.0 er s 1.5 wfiet ¥ar §) () 10mto ?;f;?llgaﬂjt Z‘t(l);ﬁf)lxs
, ard)
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The cubic meters of water that can be stored in an irrigation tank between full tank level and sill level of

xvi. ater
rest Supply Sluice is known as .
t(}:&l‘:“:mx:fmzm@@ak%m%mmmihiWMmm'ﬂawrﬂamﬁﬁaw-«.mm%)
() Totl Capacity (b) Gross capacity (c) Specific Capacity (d) Effective capacity

xvil. Run-off is measured in(3v=r % wrar a1 }) .
(2) mY/s(sR 3T e @) (b) m/min (v Bz M w) (¢) m¥/hr (R var ) - (d) None of the above (3w 2= )

xviii. The gap or Margin of height between full supply level (F.S.L) and top of the bank is called
(= & Tof g W e & v % e R S & otean wiE R % T g)
(2) Berm (¥®) (b) inspection roadway (Rfiem ¥3=23)  (c) dowel (@) (d) free board (s arg)

xix. A Structure constructed in an irrigation canal for the purpose of wasting some of its water is Known as a
(= oard e & 3a% 30 TR ) sl T R A T 7 e B w9 )
(a) fall (=) (b) escape (@) {c) regulator (FER) (d) None of the above (a5 & & 91§ 78)

XX. A diversion head work is constructed to (saeA ¥ % # fiwin frn sma1 )

(2) raise water level at the head of the canal (& ¥ ¥ W 9t = v & )

(b) reguiate the intake of water into the canal (&t & urt % ¥a= = fdfim = & fw)
{c) reduce fluctuations in the supply level of the river (+& % S T & IAR-2TT = = w=A + i)
(d) All of the above (3Ws &t & fir)

Group (B) (7w )
Q.2 Explain hydrological cycle with the help of a diagram, 4
(o3 < werzan @ v« fagm o= =1 w=zmeh)
OR (3ren)
Discuss about the various forms of precipitation. 4
(7t & fafr =t & T & w=t =)
Q.3 Dcfine irrigation Also write its advantages and disadvarntages. 4
(Fearé =1 wfowfva 301 7% W i s ot fordd])
OR (arran)
Explain drip irrigation What arc the advantages and disadvantages of this type of irmigation 4

(fe farart 1 wamen 3] 7@ yam 1 fafwd ¥ 7 wnad 3iv e )

Q.4 Draw atypical cross - Section of an carthen dam and. Show its components. Explain the functions
of each components

(qun{!tmmwﬁﬁmmﬁmmaﬁ(mwﬁﬁﬁm@ﬁm%mﬁwmak\)
OR (3rvan)

Explain drainage gallery and its effect on uplift pressure.
(v Frarett herth o weam 2w gw: v A e W)
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Q.9

Q.10

Write Short Notces on ;

a. Basin flooding immigration b. Furrow immigration.
(eiftrm feoqoft fercd
5. wren wg R ¥, %% firarf )
OR (3nrar)
Discuss about the functions of head regulators and Cross regulator 4
(¥ YRz 3 e VR & wr) % A § ww w)
Write Short notes on 4
a. Escape b. Falls
(eifem feogoht fornd
N T T.9)
OR (aviram)
Write advantages and disadvantages of well irrigation Method. 4

(1 frard fafr & aw @@ el e )
Group (C) (g7 - ®)

Explain briefly the various Methods of estimating average. rainfall over a catchment. 6
(" e & R e Tt w1 g e A fafiry Rfirdt ) wd § wwm)

OR (3ran)
Elaborate the various types of irrigation. 6
(fo=rd % Rfim yart % T § faaw & 90m0)
Discuss about the various forces acting on a gravity dam. 6
(= T W = I e T A == ®)

OR (sreran)
Write the components and their function of a lift irrigation scheme. 6

(Fere i e 35 e o w7 w7 ffae )

With the help of neat diagram explain the various type of cross drainage work uscd in Canal System 6
(=0 fox <t weraa § e et # 37 g s A RS s & w3 w9 s |)

OR (3m@n)
Design a regime Channel for a discharge of 35 m%/s, with silt factor of 0.9 by Lacey’s theory. 6
Taking side Slopes as 1H to 2V.
(3 ¥ fogia & wgan 0.9 ¥ e F10w & &y 35 frw 7w / & F aler 3 fog o Rfvm ¥er fesmr #0 srss camt 91 1H

32V )

Explain the various measures to control Seepage through the earth dams and their foundation.
(frdy & <t i 33t 1 & e A g ) Pafra = % e 3ot € sren )

OR (aran)
A 10 am soil has a field capacity of 20 percent and wilting coefficient of 10%. The dry unit weight
of Soil is 1.5 g/cc. If the root zone depth is 60 cm. determine the storage capacity of the soil.
Irrigation water is applied when moisture content falls to 15 percent. If the water application
efficiency is 75%. determine the water depth required to be applied in the field.
(e Tt &1 et amar 20% 3 e =1 ik 10% 21 fodh 51 o 3908 ww 1.5 i / et &, afe s @ 4 ead 60
A, & izl 1 vieren e it ] R w7 9 o R i @ o arn 15% s R et §] aR v R
egal 75% &, @ @@ # AR ¥ fay smavaes wrt @ med fuifa 1))

(2015503)
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Q.11 Draw layout of Sprinkles irrigation system and show its com

ponents also write its necessity. 6
(ﬁﬁm%ﬂmﬂammmmwﬁézm;mﬁwﬁm:ﬁﬁin)
OR (anrar)
Determine the design flood discharges (allowing an increase of one third) for a bridge site with the 6
help of the following date: Catchment arca = 2x10°

Hectares duration of storm = § hr, Storm.
Precipitation = 3cm, time of Concentration = 2hr, ga
maximum daily rainfall of 18cm wa

uged discharges for a past flood with average
s 3400 m/Scc.
mmﬂm%?“*h%mﬁwﬁ(@ﬁnﬁﬁq&ﬁ FRR) =1 Prafer 4 e =

2x10° ¥R, qerm & sty - 8 v, s = 3%ﬁ.,mmnm=2mmm%.fama&mf, 18 &,
v aifweam R awd - 3400 #e /2 i)

L2 2 2
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